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Physics 171 - Handout #l
Mathematics Review

ax! +bx +c =0

Express x in terms of a, b and ¢

lo(e") =
In(x+y) =
In(x/y) =
In{(a*) =

e - (3 digics)

log (107) =
log 1000 =
log .01 =

Area of clrcle =

cltsunfarcncc of circle =

160 = radians

X - (3 digies)

Express c in terms of a and b
Express a in terms of 8
Area of triangle =

Express in cerms of a, b and ¢
sina =
Cos a =
sin § -
cos § =
Tan a =

Express in terms of trigonometric
funccions of a

sin (ca) =

cos (~a) =

sin (90-a) =

cos (90-a) =

sin (180-a) =

sin (180+a) =

sin 0° =

cos 0°°-
sin 900 -
cos 90 =
sin 180
cos 180
sin 270
cos 210
can 0 .
can 45 =

2
o
e
e

Express C in terns of A, B Y
B in terns of A, C and 8
A in terns of B, C and a



10.

11.

12.

13.

example k means 107

14,

15.

16.

Express A in terms of B,
B in terms of A,
B in terms of C,
C in terms of A,

i

Express the area of the triangle:
in terms of A, C and §
in terms of A, B and ¥
Express a in terms of 8 and vy

Volume of a sphere of radius r
Surface area of a sphere of radius r

Metric prefixes

P means
n means
¥ means
m means
k means
N means
G means

is
is
is
is
is
is
is
is

writcen
written
written
written
written
written
wvritcen
written
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Write down the first and second derivacives of the following functions
(a, b, ¢ and w are constants)

(ax+b) =

(ax*sbxtc) =
a

( % ) -

(sin(wt+a)) =

al™ B 2™ 2= 21~

(cos|wt+a)) =

Write down the indefinite and definite integrals of the following

functions

[ adx =

[ (ax+b)dx =

[ (axP+bxsc)dx =
[ cos wt dc

[ sin wt dc

Given the function:

x = -3t% & 13t + 10
Find the maximm value of x and the value of t for which this maximum

occurs.

d!

& (axeb) =

2

%! (ux"tbx-fc) -
a? a

& ()~

dl

a2 (sinlwt+a)) =
2

:? (cos[wt+a)) =

f: adx =

J; (axsb)ax =

J; (axtsbxtc)dx =
J‘:"" cos wt dt =

I:'u sin wt dt =



